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IELTS 11 Test 1 Reading Paragraph 3

Complete the table below.

Choose ONE WORD from the passage for each answer.

Write your answers in boxes 30-36 on your answer sheet.



30. to create athat would reduce the amount of light reaching Earth

O O O tiny spacecraftd orbit] Earth(J light

guoduobbbboooouobbobbooooubbbboooubbbbuooobobbbon
goboobbooooad

O O O His scheme would employ up to 16 trillion minute spacecraft, each weighing about one gram, to forma
transparent, sunlight-refracting sunshade in an orbit 1.5 million km above the Earth. This could, argues Angel, reduce
the amount of light reaching the Earth by two per cent.

OOOsunshadeO O OO OQOQOQOQOQOonO

000000000 tiny - minuteld create - form

31. placein the sea

32. to encourageto form

00 O O seal] encourageld form

goobobobbooooooob3ibbobbooooouobobbboooooo320bbobbogo

0 O O The majority of geo-engineering projects so far carried out - which include planting forests in deserts and
depositing iron in the ocean to stimulate the growth of algae - have focused on achieving a general cooling of the
Earth.

O00310iron0320algee DO O D DOOODOODO

0000000 O place - depositl] sea — ocean] encourage — stimulate[] form — grow

33. to createthat would reduce the amount of light reaching Earth

O O O aerosol sprays] stratospherel] light[] Earth

guodubbbtogogguoboobbuooooobobbuoooooobbobood



00 O O The concept of releasing aerosol sprays into the stratosphere above the Arctic has been proposed by several
scientists. This would involve using sulphur or hydrogen sulphide aerosols so that sulphur dioxide would form clouds,
which would, in turn, lead to a global dimming.

O00OclouwdsD OO O0OOD0ODOOOO

OOOO100 00004 create - form

020 0 0O O O O reduce the amount of light reaching Earth — global dimming

34. fix strongto Greenland ice sheets

00 O O Greenland ice sheets[] icebergs[] sea

gobbobbbooooooobbobobbdoooooboboobobboooad

[0 O O Scientists have also scrutinised whether it's possible to preserve the ice sheets of Greenland with reinforced
high-tension cables, preventing icebergs from moving into the sea.

O0OcablesO DO O00D0OO0OODOO

OO00O0O1000000 fix - reinforce

0020 0 0O 0O O O strong — high-tension

35. to allow theto reflect radiation

0O O O treesd Russian Arctic[] leaves[] winter radiation

gobobbboooooobobbbdoooooboobbboooooobboobobboooad
gooooood

O O O Meanwhile in the Russian Arctic, geo-engineering plans include the planting of millions of birch trees.
Whereas the region's native evergreen pines shade the snow and absorb radiation, birches would shed their leaves in
winter, thus enabling radiation to be reflected by the snow.



UdOsnowd DO OO0 goog

OO0000000O lose — shedd allow — enable

36.change the direction of

O O O directiond cold water[] ice-forming areas

guduobobbtbgoouobbuoooobbbbouoooobooobon

O O O Re-routing Russian rivers to increase cold water flow to ice-forming areas could also be used to slow down
warming, say some climate scientists.

O0OrversDCODO00OO0O0O0OO0DOOO

00 0000 O O change the direction — re-routeld bring more — increase

gobbobbboodoooobobobobboooodobbezdbbobbobooooooobooobooa
goboboobooooooooobono
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